Monday, December 5, 2022 1:30 PM

THEOREM + GWEN A Spo OF e iy is
)

0—sM—>M —>NM"—= ) ;
THERE LONG, EXACT = £ P JENCES

QTMA@/M])/\/» — Tﬂ/jf (M\NBV’%WO V’j {/14”) A/)
g T(%‘ K/MI7N>,./3 SN

AT )
ML et (0 e B it (0

Qyﬁ (Mv(ﬂév” ‘

TROOF © WE WILL SHpw TVERE 1<
A 5 OF  PROJECTI\VE
RESoL UT IpN 4

va@vg\«sw;

0F m'om AND M THESE
LEAD 50 SES) 0F (o) Ot
COMYLERES

/ A
O—Y, @RN — P"’@R N\ —rgl =0
AN




O) (—HHWKQP;)N\E/f/WR(@jN)Zf/HWR(E@/\D(NQ

THESE LEAD Yo LONG EXACT

FEQUENCES  0F Tg AN Sl GrOURS
SUFFozE P oanD B ArRs

PROJ ecT /e RE=cLLUTIONS  OF

moanT>S o m 7

O\f%M/ 2 WMCﬁZi; /L_JC/

Al b al ky/” B, <

WP(QP /—WP//MO

ﬂ ) m% \/ﬁ M/ a/ur M‘(ﬁ/pﬂ &
ony ) / Tﬂ< ~ g Towr o
o — PR —— T N,

—

{4, DECAVSE B s PROTEPUL

ﬂ/a = '%m @?a] S T
Jg, wECAUSE B9 PROJ

CAN  REVPEAT THIS  IVEINITELY
mANY  TIMES  AND L £

y_,,;/\/l _,_\_/‘/] ———ﬁM// —_
T f »
O—% ——= F s

Wieke RE2E o T ) BT

/7

A, Z 4 @4 Becavsr



ko o # br )| & ko 247
THI5 oUR  sEs  oF TROETNT
RE<OLV TIONS . THE THEOREM

FOLLOWS CQE>

THE ABOVE woRks R AN
Rwg, R, BUT wWE ovly NVEED T

A FPID %um A 2/ @
AN TS 2/(07)

UNIVE RS AL cOEFFRICIENT  THEREM.
/[ ET o BE A THAIN O MPEN
IE  FREE R-MODYLES TOF

A FLD RO(SUH as ),

FOR  AVY R-MODULE N |
THERE A SHORT £X4CT  SEENe

NAWE  GUETS £RROR TzrMm

O—H., //WN i, (o )—T i@{@ )
THIs SES 15 SPAT L E ﬂ
Ho (g WY OGN & Toq (1)
REMA RS R [ N =A=ABZAN &p

O FoR C=5(X) W ZET A
TESCRIPTION  OF  Hy (X, A



(2) EXAMPLE
R= 2 S C, = = =2 = ToOR

CU (;i _/,>)

O & %@2&“0
Holo) = it <=0

w ‘= |
A=2[2
(@2/2 Gﬁyﬁ/ §Z/2
ﬁﬁZ/z &= %/a O

A=
g ((@7%/2> z/z /= /
e @2/2 UCT =4\ =,

 (comd = (hORZYS T, (10,2
(0ﬁ?%/>~> DT /%/zy%/z)
=0 &© 25 =25

FROOF 2 N ANY CcHAW  COMREX

ﬂ{/z/\ C //m\‘// -

- L (' < 71 4|

U
z, = o A, = GROVP gt

[ : , I (R



LET 2 DENCOTE  THE C%ﬂMP&E\/
WHos e aTH  CHAN gp 15
2= Req g, \ Wi TH TRIV[AZ
ROUNTARY  oPERATON

T B DENITE ThE S Y
WHOsE xTH GROUVP 1<
Y=/ 2, o WITHN TRIVH
B OUNDAPY  OPERATOE

THIS  mMEANE  weE  HAVE A
=S e4 OF NA N (UMPLEXzég

) 00— =2 < 2B—O

e Lowg x40t S8 A H,

¢
~—\2m — ZL//II /(“> > BMQ
INCLOSION MA
CS) 2/,7_1 O/I/‘TVj H//M (KB £>
Note W (o) =2, /B




BY DERIMITION . pUR LES
DE COMPoO5>ES IVTY  SE S

Z) 0oz, 2O

WAN T TO  TENSOR @
W TH N, WE GET A L=

O F Ty OROUFPS. SINCE 5.
ANTS 2 ARE BREE R ppnee

Torf@)/\/) ANT TDDR(Z;)/UX /
VAN IS FoR =0 . oUR LES
REVDUES T ,

O —= Tpr_ (¥, /ﬁ)@

g %/A@/\} 7244@7/\/——7 Hm([>@/um>0
i ON

HENCE  Tpy RlH.€),0) = don (G, on)
AT TR (4,000 ) = skl

s &V

Swee A 15 A SES OF
CHAN COMPLE XES 0+  FREE
R—-MOIDVLES , TENspR T

WITH A PRESERVES  ExATUESS



WE GET

O =281 — Cal —Day—c
WE KkNowW  H, (zgu)= 2, @, A

Th o o (BN} = %, @RM
i
EOLES O wmis

" Ll ‘R) i E%’@N)

2H, (NI — -
U NLiloW THAaT T as=
O—> ko g, gl—> Hy (CON) — bung on,
H,mf, ‘/cW) 1;/,‘;2”(% N
. OET>
MAKEP CLASS B

WERY 12 )57 2000 {2@/%

FRDAY )= yZ R

=INA/ 12//% Mo DAY 4o
0/ 10 Y




